(0 @) (rad)

a(d cot(d))

=
<

SICEWATL

=

o p/p.)

:

1073 T R
(O] R EEEEEREEREEETEE .
B + -+

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

0. :
1071 1

o 0—%_ L .......! o ..! AN L inn
§ r
EI:| SEREEPREOPR ERERES B B A XA £ B SRS EPEPREPEPES
1-— ----------- v--- P oS nar s
1 10 0 . 10° 107 1 10 0 . 10°
TP, (PCA t% beamling TP, (PCA t% beamline
—=— DQM_mKFIt_T1original
—e— DOQM_mkFit_TT_JanUpdate-noErr
—— DQM_mKFit_TT JanUpdate-statErr
—— DOM_mkFit_TT JanUpdate-systErr
S : :
e ottt P H
o L. el ok
o k4 ¥
S £ [
Lo P e A S
.910;%_ L .......! L .....! il Liiun
I E :
X 1f------rmeecieeeo b o B B B e
15_ ............... ) : L
F + *
oL h H

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


